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Coherent states


Coherent states, � EQ |=e\s\up5(a\s\up4(†)\s\up4(*)a)|0� are complex eigenvectors of the annihilation operator: a|=|. The state |0 is a special case. For real , they are proportional to a Poisson distribution over all numbers or objects. They are important because they form a (non-orthogonal) basis; and because an inner product with the state | results in a sum over all numbers states which can be used to determine normalizations and expectations of random variables. E.g. the expectation of random variable X in a state  is





� EMBED Equation.3  ���
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